41505-17 T BfEIRR SEA THERFEXE

7= miiEA

M
4N,

I
RAOBARBER. SOEKLITELE (HRC 38).

BR:
THERRESERZREHETHE,
A/C BRI AT REERR,

B A FRERERZERNEERIR,

MA :
FTHERSHEARESHHHERNNVE,
EAREAALIRLT T REIRSITIEERRNBAERER L,

=N
AIC B  RESHH T HERSNSHARBR/D |, XEWRE th ] LUE
6] 5 6 B E 3 R

© norelem www.norelem.com



41505-17 T U128 B THEEXE

@ B -0,006 © B 0,006 @ B -0,006
-0.017 -0017 -0017
g1 o> K0 . B0t T Ko & S KIS 0/
EA N I L . i\ L : =7
= {%/ ] | ol = i 5 = ‘r_g/ o | Sy % C\g/ ] | ? [ ¢ S
I II // i ! .'.l:. : A -
ALY = 5 | PV 277,
| | 4 D o_| | /4 D /i
L B . B N M P B1

acdl

- e |
| 5~ |
@ ] B2
® -0,006 L
~ Baory
v 3> S
T
| o8 ' ‘
v 7 L s
/ / =
‘;/—— % Z
D /58
- B1 -
}
i ]
yARNS,
H |
1
B2
41505-17-05010241 50 | A ERMEW 24 -1 19 | 22 | 26 | 9,95 M10
41505-17-05010361 50 |C E A TCRM 3618/ 19 | 22 | 26 | 9,95 M10
41505-17-05012241 50 | A ATHEEFRMHEERER 24 -1 19 | 22 | 26 | 9,95 M12
41505-17-05012262 50 B AT XERE R Z 26 - 185 18 | 26 | 9,5 M12
41505-17-07214281 72 | A ERmEm 28 - | 30 | 33 | 40 | 14,95| M14x1,5
41505-17-07214533 72 | C TR 5328/ 30 | 33 | 40 | 14,95| M14x1,5
41505-17-07216281 72 | A AFHEEFRTHRLRER 28 - | 30 | 33 | 40 | 14,95 M16
41505-17-07216302 72 | B ATRERERERR 30 - |29,5/28,5/39,5| 14,5 | M16
41505-17-10014344 100 | D Festbacke einseitig/Keilspannsegment m.Festbacke 34 -| 45 | 33 | 56 |14,95| M14x1,5
41505-17-10014595 100 | E UM 5930 45 | 33 | 56 | 14,95| M14x1,5
41505-17-10016342 100 | A ATRERERE & 34 -144,5/28,5/55,5| 14,5 M16

© norelem www.norelem.com




41505-17 T BfEIRR SEA THERFEXE

© norelem www.norelem.com



